THRTEETRIXFEEOIHRR

48
AH FHES X HHE4A X HE%E
4838 = O—rORT—ILAVVEVIRESEDEBHRS 3,440
486H = BEINTERDE 3,000
48118 = KREIARSZHEMBHEDERRBE 6,000
48128 = HETERENRS 6,000
48128 = X FIHR RGES 5,000
48138 FH TR FE 5,000
4816H Fu I E & 5,000
48178 FH TR FE 5,000
4820H = HRER IR P &8RS BT = 5,000
48248 = T EBAE#IBR B BRE 5,000
4H258 = IR ERELRPEIHERIBRR 5,000
48278 = BIIFZEET SR 5,000
48288 = TMPTAESEEESBHE 5,400
=X 63,840
54
AH FHES X HHE4A X HE%E
58108 =& ELRRTSARINSEKI2019 HEEHER TS 5,000
58138 =8 |ERMEL-ERBEEEFREEEERERS 7,000
58148 =& EERELOBRHRS 6,000
58178 E==1 A= 5,000
58188 =& BEHZYJE—DJvybR—ILIBRBHRE 3,000
58228 =& (REBIBETI/N\ASURERBESBRS 5,000
5H24H =8 |BRERBAAYERESSAREBHRS 5,000
5F24H S8 [ERANAHVWELIKYRESBHRES 5,000
5H28H =8 |(BIXEmiBERESERITHRE 5,000
58308 =& b B AR AR S ESERE 5,000
=X 51,000
68
A H THES X HHEA T &%
684H =& R BEIITBORR S 6,000
6H7H =& B BEASESSHIBREBRES(RE] 3,000
6878 =& BEHEERDEERRBE 4,000
6898 =8 |WRERASEEMNFIS 5,000
68118 2& |KEUSYRBHER 5,000
68138 #HpE |EBRFEMXITEBR 10,000
68158 =& BEERIETNESR 6,000
68168 FH  |TERFE 5,000
68198 =& BESAA X574 —LBlE 5,000
68 19H =& FEESHHRERRHRE 3,000
68218 =8 P EAEHRERRAE 6,000
68228 =& M IREEREERSBNRE 5,000
=X 63,000




7H

AH XHRD X HHE4A T &%
7H3H = AR = 5,000
7H3H = EE IR RIS RESERE 3,000
7H4H = AR = 5,000
7H8H = R ISEFRSL Y —ERPESBHRS 5,000
7898 = HMESNHWEEIKYRELBRE 5,000

7R128 = AR = 5,000

7H24H = HIOMAY - EFSMKSBRS[KIE] 3,000

7H258 = X RS 1,000

=X 32,000
8H

AH THRXSD X HHEA &%
8H4H =& I BIEHFIREARER IR 5,000

8H29H FH TR FE 5,000

8829AH & IS & 5,000

aE 15,000
9R

A H XHRESD X HHEA &%

9A18H = REEFHREOKBHS 6,000

9H25H = MEFRFRKFEEDIBIAR 5,000

=1 11,000

108
A H THESD X HHEA T &%

108 3H SE |BLEfERRKEILSEIEELET Iy 5,000
108178| #fEH |mBhHE 5,000
108188 S8 |EHEMMIWVEREEERSBES 5,000
10818H =& hiRBIITBOR IR = (K] 6,300
10H21H E-3=1 STHEBEXRHESBRE 5,000
10825H E==1 Bl I XEFEEFEERSBHRE(RE] 5,000
Bt 31,300




1A

AH FHES X HEA ZHE%E
1181H = AR = 5,000
11H4H = TAERKROBEMBRAE 5,000
118108 = KB ERIS0RAETRSMES 5,000
118148 = BNIIGZSHASMEEMRRE 5,000
118168 = AR = 5,000
118168 FH TR FE 5,000
1181780 = BAHmAR—YVEAREE -EREBRRE 4,000
118208 = EEIABFEMBEBOLNERR RS 5,000
118218 = BEZEREHMLLDOBHRS 5,000
118228 = BEEFTEORBIKRR 5,000
118238 = FEEFEHE)—J S 5,000
118238 = i) —J HEERNS 4,000
118258 = SERBMRES 3,000
118288 = JAHSC HDEBUERSBIRE 3,000
118298 = A BREXRE BN 3,000
118298 = b HE KNS 5,000
T 72,000

128

AH THES X HEA X e
1285H =& |REBEHROR 3,000
12H6H S5 FIREDIERR B 5,000
1286H =& HAERBKE 4,000
1287H S8 |TREELIESBHRE 4,000
128118 =& REZENMESR 5,000
128128 =& |THEBFEHEREOERRBS 5,000
12813H =& HAZREX = 5,000
128158 =& A= 5,000
128178 S5 HAFERHE[1/16B0#E D - A2] 5,330
128198 =& AR 5,000
=X 46,330

18

AH THERS XA ZHEeEE
1A9H = M{A2000[E i & Hl& 6,000
1810H = MEAVSTEESHERNIE 5,000
1810H = TUEG R F & RIB MRS 5,000
18148 = HAL RIR = 5,000
1815H = HAHFE= 5,000
1A158 = HAFERHI= 5,000
1817H = IR BTN FEERARER 5,000
18188 = [REB]HRBIRE 5,000
1820H = AR EX = 2,500
1820H = (RE]RSREBFFHEHI= 5,000
1821H FH |BAEISERLXESAN0FFERESK# 5,000
1822H = M IREmEETEAESR 5,000
18248 = HAFES 5,000
18278 = (RE]HAAFERG= 5,000
18318 = HAE I BRSNS ER 5,000




2R

AH XHRX5 X HHEA T &%
2818 = HAFTERS 5,000
2838 = HAHFES 5,000

2H198 = FEREEREERESBHRS 5,000

2H208 = MEZEHO = 10,000

2H228 FH  |TERFE 5,000

2H28H = RS E 5,000

&3 35,000
3A

AH THERS X HHEA &%
3858 FH |TBRFE 5,000

38318 FH  |TERFE 5,000

=118 10,000




